AUKLAND PUBLIC SCHOOL

ASSIGNMENT OF CLASS -V

SUBJECT — ENGLISH

1. Read the passage carefully and tick the correct option.

Bees are insects. Bees are special insects because they can fly! They can move
through the air like an airplane! Bees can fly because they have wings. They use their
wings to fly. Bees can fly fast. Bees can also fly slow. They can fly up and they can fly
down. They need to fly to get to the flowers! Bees can have three colors. They can be
yellow, red, and orange. All bees are black in some places. Bees have three main
parts. They have a head. They have a body. And, they have a stinger. The stinger is
used to defend against enemies. They also have six legs. They use their legs to stand
and climb. They also use their legs to eat and collect pollen. Bees live in many places.
They live in Africa, Australia, Asia, Europe, North America, South America. The only
continent that bees do not live on is Antarctica! | understand why they don't live in
Antarctica. It's too cold! Most of the time, bees are nice to humans. If you do not bother

them, they will not bother you. Have fun watching the bees this summer!

Answer the following questions:-

1. What are bees?

A.Mammal B. Birds C.Reptiles D. Insects
2. How do bees fly?

A.They use their legs. B. They use their head.
C.They use their wings. D. None of the above.

3. How many legs do bees have?

ATwo B.Four C.Six  D.Eight

4. What is the stinger used for?



A.Two eat food. B. To defend against enemies.
C.Both A and B. D. None of the above.
5. Where do bees live?
ANorth America B.Asia C. Antarctica D.Both Aand B
Literature
2. Fill in the blanks:-
i. Akash worked hard and won to US.A.

ii. We have no time to turn at Beauty'’s

iii. Dr.DUNbar at his on cathedral road .

iv. The smell of steamed and fried pakora drifted from rooftop.

v.Romans _____ for the gladiators to Kkill.
Grammar

3. Read the following sentences and identify the type of noun used.

A. Kolkata is the capital of West Bengal.

B. Laughter is good for health.

4. Read the sentences and identify the subject and predicate in them.

A. Mars is known as the red planet.

B. Kangaroo is the national animal of Australia.

5. Write three forms of verb:- 1.break 2. Leave 3. Stand

6. Change these sentences into negative sentences:-

A.1am going to school.

B. She was in the room.



7. Underline the verb in the given sentences :-
A. Ali bought a new bicycle
B. The guest arrived on time.

8. Fill in the blanks with a,an,or the

Alltwas ______ interesting match.
B.Mrkhanawas _____ businessman.
C.letus discuss ______ problem seriously.
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SUBJECT - SOCIAL STUDIES

(A) Fill in the blanks

1.The and in the air is called humidity.

2. The polar zone is also known as

3.A rises suddenly from the surrounding areas.
4.The__ divides the globe __equal parts.

5. The Arcticcircleison ___ N.

6. _  onthe map shown by an arrow markin the upper right hand corner.

(B). True/false
1.The shape of earth is round like sphere .
2.The parallel and meridian intersect at right angles.____
3.The plateau of Tibet is surrounded by water on all sides ____
4.The temperature of air decreases with increase in height above sea level.____
5.The winds coming from the sea normally Bring hot and dry weather.____

C). Tick (V) the correctoptions.

1.The place close to equator have ___ temperature.

a). higher b)medium c) lower
2. Therays of the sunfalls____ onthe temperature zone.

a). Diagonally b)Vertically c)Hottest

3. Which of these change frequently?



a) Climate b) Weather c) None of these
4. Which is the oldest landform ?
a) Mountain b) Plateau c) Volcano
5. Deep valley with very steep side is called
a) Mountain b) Canyon c) Valley
6.The earth divides into two parts by an imaginary line is called
a) Tropic of cancer b) Equator ¢) Prime meridian

7.The invisible line that join North pole to south pole is called

a) Meridian b) Latitude c) Equator d) None of the above
8.Different physical features are represented by different on map
a) Size b) Color c) Shapes

9. The map of the country is an example of

a) Largescalemap b)Smallscale map c) Detail map
10.The person who make map is called

a) Photographer b) Cartographer c) Cinematographer
SUBJECT - SCIENCE

(A) CHOOSE THE CORRECT OPTION.
1. Atiny hole which allows the seed to absorb water.
a. Micropyle b.Radicle c.Cotyledon d.Plumule
2. Theseedsof ____ plantis dispersed by wind.
a. Lotus b. Cherries c. Cotton d. Bean
3. The plant that can reproduce by leaves
a. Potato b. Bryophyllum c. Rose plant d. Carrot
4. Which animal can live both on land or in water?
a. Frog b. Fish c. Lion d. Rabbit
5. You might get electric shock if you touch any electrical appliances with



a. Wooden scale b. Wethands c. Dry hand d. Leather belt

(B) FILLIN THE BLANKS.
1. Animals like fish can breathe through their
2. _ clothescannotcatchfire easily.
3. __ isastick-like structure that holds up the anthers.

4. Always wear a while travelling in a car.

5. ______are mammalsthat canfly.
(C) GIVE ONE WORD FOR THE FOLLOWING.
1. Adog bite can cause:
2. Aninjuryto a muscle nearajointis called a:
3. The ability to merge with the surroundings for protection:
4. The holes onthe bodies of insects which help them to breathe :
5. The transfer of pollen grains from anther to stigma of a flower:
(D) CASE STUDY.
Canyou feel something hard below the skin? These are bones. There is a framework of
bones inside our body. This is called the skeleton. It gives shape and support to our body.
There are many parts of skeleton like skull, backbone, ribcage, limbs, joints and muscles. A
skullis made up of 22 bones which protects the brain. Skeleton protects our all body
organs.
1. Whatis a skeleton made of?
How many bones are there in human body?
Which organ is protected bythe ____ ?
Apairof_____ which helps us to breathe.
One organ thatis ‘pump’of the body__ .

O prob

SUBJECT - MATHEMATICS

Tick the correct option.

1. Choose the correct short form for 2000000 + 50000 + 300 + 20

(a) 2050320 (b) 2500320 (c) 25320
2. Nine million eight hundred four thousand one hundred eleven in figures

(a) 9804M (b) 98404111 (c) 980041
3. Choose the next number for 205836,206936,207936, _______

(a) 205836 (b) 206936 (c) 208936
4. How many thousands make a crore ?

(a) 10000 (b) 1000 (c)100

5. Which symbol is never repeated?
(@) v (b) X (c)c



If the quotient is 57, the divisor is 45 and the remainder is 29. What is the
dividend?

(o) 2594 (b) 2565 (c) 1362
A factory produces 950 pairs of shoes everyday. What is the number of
shoes produced in 30 days ?

(a) 28500 (b) 31.66666 (c) 980
Which of the following Roman numeral is meaningless?
(o) LL (b) ccx (c) bxc

100 lakh is also called
(a) 10 million (b)10 crore (c) one million

10. The place value of 7 in 33,987,259 is

(a) 7000 (b) 7000 (c)7

Fill in the blanks.

1.

2.

© o N o a p~ W

37465 rounded to the nearest hundred is

Smallest 8 digit number is
475 x 932 = 932 x

Hundred ‘s place is in
47803 ~ 1=

The answer of the multiplication is called
The successor of 22,368,089 is

10. XLIV = XIV =
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